-0.15

Ratio

< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

|
PO
a N

o
[N

o
N

................................................

................................................

o
o0

. +
MEFITETITY R 117 H
+ + |- * 1

+ITl

. |4

T4
+ T4
+
414

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

o
[N

x1073

o
N

< dcotl>)
o
=
a1

0.05]

-0.05

-0.15

...........................................

...........................................

Ratio

=
o
N

1

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles113
—+— DQM_CKF_TT_retrainOldFiles125_v2

100

A OO @
o O O

20

- Sbi--
. -\
¥ T+ ;T
. + *
- M - N
-4 i- -
* i
|| B
4+ I 3
+ :
I - ) '+
* T
-+ .
J: .
+ .
-
L NMATAIEE Al 1
+ . -
: +
: + ]
HAH A+ -+ -4+
“®
HEE3
¥
T -

o
JiN

1

1

2 3
TPlp?T (PCA tjbobeamliné'f)

iy

|
=
R R I LR RN R RNl RR R RRRRN RN RN RRRR RARRN LRRL
.

F11T
- F 3 .
Y :
¥ :
A i
- .
+
AES N ..
+L1F :1"
¥ H
+
H .
4 :
I 3 .-
] AAAA]
+ 4
4 Tl +L |
<+ | [ T4t B
- REEEESH .
4 1% A

[y
o
I8

1

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

T T T T T

|
N
o
T T T T T T T [ TT T[T TT [ TT T[T TIT[ T[T 7Tt

"I 4T

B5e
iR

1

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


